	1
	Заполните пропуски в таблице:
	Система счисления
	алфавит

	10
	

	
	0,1,2,3,…A,B,C,D,E,F

	8
	

	
	0,1




	2
		Твой день рождения
	Перевести в 10 систему счисления
	Ответ 
	Что бы это значило?

	Лето
	23328  
	
	

	Осень
	56416
	
	

	Зима
	111000101002
	
	

	Весна 
	36318
	
	




	
	[image: G:\урок Ростов\bukvennye_slavjanskie_chisla.jpg]



	1
	Заполните пропуски в таблице:
	Система счисления
	алфавит

	10
	

	
	0,1,2,3,…A,B,C,D,E,F

	8
	

	
	0,1




	2
		Твой день рождения
	Перевести в 10 систему счисления
	Ответ 
	[bookmark: _GoBack]Что бы это значило?

	Лето
	23328  
	
	

	Осень
	56416
	
	

	Зима
	111000101002
	
	

	Весна 
	36318
	
	




	
	[image: G:\урок Ростов\bukvennye_slavjanskie_chisla.jpg]















image1.jpeg
RE. 2
22g s
23R8
28881188
w7m0m2 S8
32 ES = g S
IR A
ndbira g & Qe
=3 o8 =3
SxgRzgg8888R
LT B B0 ]
15 1z w10 18 1 tata 1
SomteneDgH
SmuNebafgNg
SR
18 1T 1% W01 1OnE e 1 1=
A
SR
1w 10 1k 1= UO1R 102 1z 1 1m 1T




